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Add or Subtract 3 
Numbers Part I 

   1. Calculate the following.

a. 13 + 2 - 1 = ___

b. 14 + 3 - 2 = ___

d. 15 + 6 - 4 = ___

f. 16 - 5 + 4 = ___

c. 13 + 4 - 2 = ___

e. 16 + 4 - 5 = ___

g. 15 - 1 + 2 = ___

h. 14 - 1 + 3 = ___

i. 13 - 2 + 4 = ___

l. 16 + 3 - 5 = ___

m. 15 - 3 + 4 = ___

o. 13 - 2 + 1 = ___

q. 14 + 5 - 3 = ___

n. 14 + 6 - 2 = ___

p. 12 - 1 + 2 = ___

r. 15 - 4 + 2 = ___

s. 16 + 5 - 4 = ___

t. 13 - 2 + 1 = ___

j. 16 - 4 + 5 = ___ u. 14 - 2 + 3 = ___

k. 15 - 3 + 2 = ___ v. 15 + 2 + 1 = ___
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Name: ..................................................................

Time Taken: .........      Total Score: ..........

Complete 2 pages (page 11 & 12) within 
4 minutes with > 95% accuracy.
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Extra

   2. Fill in the missing number.

   3. Solve the following problems.

 
  ii. A farmer has 14 horses. Two horses run away.
      The farmer buys 3 more horses.
      How many horses does the farmer have now?
                                                            14 - ___ + 3 = ___

             The farmer has ___ horses now. 

a. 16 + 5 - ___ = 20

b. 14 - 2 + 5 = ___

d. 16 - 3 + 4 = ___

c. 15 - 1 + ___ = 17

f. 14 + 2 - 3 = ___

g. 13 - 6 + ___ = 15

i. 16 - 1 + ___ = 18

h. 15 - 2 + 3 = ___

e. 15 + 4 - ___ = 17 j. 14 + 4 - ___ = 16

  i. Which number makes the sentence true?
                                  
                           14 - 2 + 3 = ___
        
        	a. 15                  b. 16                  c. 17                 d. 18 
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